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Questions

Tick the correct opton which shows present particle

Tick the option that shows tha correct use of adverb.

His dinner-.... laid for him under a cover.

Complete the proverb.

All that glitters is not.

The correct proverb is.

He said to me,"l am student." The correct indirect is.

The word with correct spellings is.

The correct sentence of past continuous tense is.

Why ........ you weeping?

| finished my work.
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. Boiled water
. Boling water
. Boils water

. Boil water

. always he helps the poor
. He alwyas helps the poor
. He helps always the poor
. He helps the poor alwyas.

.Is

. Was
. Were
. Has

. Silver

. Platinum
. Bronze

. Gold

. Birds of a feather flock together

. Birds of a family flock together

. Birds of same kind flock together
Birds of a species flock together.

. He told me that | am a student

. He told me that | was a student

. He told me that he was a student
. He told me that w ewere a student

. Existance
. Existence
. Exustance
. Existunce

. The children cried for food

. The children are crying for food

. The children were crying for food
. The children will cry for food

.lIs
. Had

. Are
. Will

. Has
. Have

s
. Are



